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Directions: :

‘e Answer all questions on the paper
¢ Show all necessary working.
¢ Marks may not be awarded for careless or badly arranged work.
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"1, Express 0.8 as a fraction in it’s simplest form

{ -

‘\ —

4 2 The cost of a calculator is"ﬁd'w_$33.6_0. If it has increased by 5%,
) how much was it worth originally?

3. I get $150 a week for a casual job-If I spend % on _t;us fares, % on lunches

1 . . : .
and 3 on entertainment. How much money is left over for savings?
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4, E'xpre§s-451km/h'§n m/s yd

. o J b
5. Tohn and Luke are sharing a packet of ¢chewing gum in the ratio 5:7.
* Ifapacket contains 60 pieces of gum, how many will John recetve?
o :
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Simpli -
plify P-4 x+2
. ) 3 2 -
- Simplify — X Yy +2y
y+2 6y-3
o _
8.3x4.1
Evaluate X

0.2+54+1.3

Factorise the following

a) x—-64

correct to 3 significant figures

.p.)



d)

e}

X —5x—24

10x* ~11x—6.

m? —n*+2m-2n

[



P =Tx-8 /

10. . Simplif :
' implify y3x+2 _,/‘

11, ASolve the following equations

a) 3-2x=1

b)

@ 7'”:-3 =-2(m+1) .



d)

L

) 4x—1_ 2x+35

6t—(t—9)=-3¢t"

2 3

?x~4+6=_n5
5
S 4
2x—A1




12.  Solve S5p-=9211

13. Solve —-a-7< —;’2

14.  Chan ge the subj—é;:t?ft}{e following formula to a ’

by

a+3

1+_c1"
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12.5m/s

8 $32 $65
9
8-3x Y 1.98 x+8)(.\"—8)’
(x+2)(x—2) 2y—1
(65-1)(»+8) (2x-3)(5x+2) (m—n)(m+n+2)
m=—-— —11 = 1§
3 8 8
p=4 a>-—5 - a=u+at
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